1. Determine whether the seriess is convergent or divergent.
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2. Find the interval on which

is increasing.
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3. Find the interval of convergence of the power series
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4. Evaluate the integral




5. Find the sum of the series
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(Hint for part (b): Write the partial sum Sj.)
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6. (a) Write the Taylor polynomial T3(z) for f(z) = (z—1)"2 at z = 2. (b) Find the
Taylor series for f(z) = (z —1)"% at z = 2. (¢) Find the radius of convergence of the
series of part (b).
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7. Evaluate the integrals
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8. Determine whether the series converges absolutely, converges conditionally or

diverges. - o
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9. Use the error bound for the Midpoint Rule to determine how large N must be to

approximate
1
f e dz
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by My to within 107°. (Leave your answer in the form N = an expression that could
be computed with a calculator.)
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10. Determine all the integers (that is, whole numbers) & for which the series
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